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1. Revise Plan

Ver 1

interaction FeesualCPT_SetTable )

Lifelinel: User
1: setInput(input:String, y:int, x:int)

MainController

P : setTable(input:String, y:int, x:int)

table: Table

EW)

[y>=0]

3 : addRow( y: int)

4 : setCheckBox(index: int)

interaction FeesualCPT_Analyze J

Lifelinel: User

1: analyzeCall()

MainController

| fbController: FeedbackController

2: getFeedback( table: Table)

3: getMessage()

feedbackList: Feedback

teController: TestCaseController ‘

teList: TestCase

5 : feedbackContainer = g

6 : isSuccessful()

a

£

[isSuccessful == true]

8 : makeTc(tableObj:Table)

9: recursivel(data: TestCase, number: int, count: int)

14 getTestCaseList()

1

10: recursive2(property: ArayLit

>, data: TestCase, number: int, count

rayList<String>, data: String)

nayList<String>, data: String)

13 : add(singleTc:SingleTestCase)

int)

16: ge Table )

19 : feedbackContrainer = getFeedback

15 teListContainer = getTestCaseList

17 : getMessage()

20 displayTeList()

18"

[else]

21" displdyFeedback()
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interaction FeesualCPT_TestcaseDesc )

10 : nextPos()

% singleTcList: SingleTestCase
Lifelinel: User : ; :
1: request ' :
2.: getAt() | :
3: getDesc() L
J8 L A Ll L L L L LI 1
5 ;
[request =:‘: prevDesc]
5 : prevPos( ) L :
6 : displayDesc() :
: [ 7: getAt() T :
i > i
U 8 : getDesc() o

11 : displayDesc( )
12 : getAt()

] 13 : getDesc()

interaction FeesualCPT_Save J

R

Lifelinel: User

1: saveCall()

MainController

| tiController: TextFileController

| SingleTestCase

> J-) : Table, tcList: TestCase) 3: getTable()
I 1
5: getAt() H 6 : getDesc() i
8 : getSingleTcList() —I H 9: getRefNum()
10: ""j—ﬂﬂ
11 : TestCase.txt T i ;
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System Operation

2017

+displayFeedback(): void
+displayTcList(): void
+saveCall(): void

TestCaseController

-tcList: TestCase
-propertySub: TestCase
-nonPropertySub: TestCase
-propertyTc: TestCase
-nonPropertyTc: TestCase

+makeTc(table: Table): void
+getTestCaseList(: TestCase

+recursivel(data: TestCase, number: int, count: int): void
+saveProperty(property: String, data: String): void
+checkProperty(property: String, data: String): boolean
+recursive2(property: String, data: TestCase, number: int, count: int): void

MainController

+tableObj: Table

+tcController: TestCaseController
+fbControlle edbackController
+tfController: TextFileController
+tcListContainer: TestCase
+feedContainer. Feedback

+getTcList(index: int): TestCase
+getPrevDesc(index: int): void
+getNextDesc(index: int): void
+analyzeCall(: void

+displayDesc(index: int): void
+feedbackCall(: void

Ver 1

TextFileController

FeedbackController

file: File

-feedbackList: Feedback

+saveRequest(table: Table, tcList: TestCase): void

Table
~contraints: Boolean(3]
-table: String
-row: int

+setTable(intput: String, y: int, x: int): void
+setC int): void

TestCase +addRowly: int):
+getRow(): int
+getTable(: Stii
+getC

-singleTcList: SingleTestCase

void

ng
boolean

+nextPos(): void
+prevPos(): void

+getSingleTcList(): SingleTestCase

+add(ref: String, desc: String): void

+getAL(): String

+add(ef: String, desc: String, iF: String, property: String): void

SingleTestCase

-refNum: String
-desc: String
-property: String
-iF: String

+getRefNum(): String
9

+getproperty(): String

Operation in interaction diagram

+getFeedback(table: Table): Feedback
+isSuccessful(table: Table): boolean
+getFeedback(tcList: TestCase)

Feedback

-errorMessages: String

+getMessage(): String

Class

String, y: int, x: int)
setTable(input: String, y: nt, x: int)
[addRow(y: int)
setCheckBox(index: int)

getTcList(index: int): TestCase.
getprevbesc(index: int): void

analyzeCall()

getFeedback(table: Table)

getMessage()

issuccessful()

[makeTc(tableObj: Table)

recursivel(data: TestCase, number: int, count: int)

saveProperty(property: ArrayList<String>, data: Sring)

add(singleTc: SingleTestCase)

recursive2(property: Arraylist<string>, data: TestCase, number: int, count: int)

checkProperty(property: ArrayListeString>, data: String)

getextDesc(index. int): void
/ setinput(input: string): void
lyzeCall(): void
displayFeedback(): void
displayTcList(): void
savecall():v
displayDesc(): void
feedbackcall(): void

MainController

makeTc(table: Table): void
getTestCaseList(): Arraylist<TestCase>: void
recursive1(data: TestCase, number:

setsingleTclist(): ArrayList<SingleTestCase>

nextPos(): void
prevpos(): void
addiref: string, desc: Strin
addiref: String, desc: String,

id

String, property: String): void

TestCaseController

TestCase

saveRequestitable: Table, tclist: TestCase)
getrable()
getat()
getDesc()
ectsingteretisto
getRefNum()

SingleTestCase

FeedbackController

Feedback

index: int): void
nt): void
getRow(): int

getrable): string

Jectconstraints): boolean

TextFileController

Table

Team 8




2. Class Diagram with Ul

Main

~showPrev: J8ution
+showNext: JButton

+tcaList: Jist<Sting>
Ipanel

+bottomHal: Jpanel
+tcSpecificContainer: JPanel

+iScrollPane1: JScrolPane.
“c3ListContainer. JScrolPane

+seuLst(data: AnayList<Sting): void

MainController

+tcControler: TestCas

Coniroller: TextFieCortroller
HcUStContainer. ArayList<TestCase>
+feedContainer. Aaylist<Feedback>

Tabie

roler FeedbackControler

“getTcLisi(ndex. i) TesiCase.

od
+displayDesciindenx:in): void
d

“honProperty Te: ArayListeTestCase>

+makeTc(table: Table): void
+getTes(CaseList): AmayList<TesiCase>

+recursive(data: TestCase, nunt int): void
+saveProperty(propery: ArayList<Sting>, data: Siing): void
+checkProperty(property: AmayList<Sting>, data: Sting):

+recursive2(propeny: AmayLst<String>, data: TestCase, number. nt, count: nt): vod}

TextFileController

FecdbackController

[Fere

fecdbackList Feedback(10]

Table

~contrants: Boolean(3]
table: Strng

row:int

Testcase

Sting, y-nt, . ). void
n): vod

SingleTeLlst: SingleTesiCase
“pos: int

“nextPos(: vod
+prevpos(): void

+getSingleTcList(: AmayList<SingleTesiCase>

+add(ef: Sting, desc: Sting): vaid

*geiAl): Stiing

add(el: Sting, desc: Sting, iF: Suing. property: Sting): void

addRowy: nt): void

+getRou): int

+getTabie(): String
boolean

"~ geReiNum(): Siring
+getDesc(): String
+gellF(: Strng
+getproperty(: String

3. Sequence Diagram with Ul

[ o it

Ver 1

interaction FeesualCPT_SetTable )

Lifelinel: User

1: click JTable or JCheckBox

mc: MainController

2 : setinput(input:String, y:int, x:int)

3 : setTable(input:String, y:int, x!

table: Table

alt J
[y>=0]

int)

4 : addRow( y: int)

—

6 : setCheckBox(index

2017

Team 8




Ver 1

interaction FeesualCPT_Analyze

% EI | | } feedbackList: Feedback teController: TestCaseController ‘ | teList: TestCase ‘
Lifeline1: User i I i

1: analyzeButton
2: analyzeCall() 3. getieedback(table: Table)
J
| 42 geessage()
|
EH L
at )
9 makeTe(tableObj Table) 10 recursive(data: TiestCase, number. int, count: inf)
isSuceesstul == tre]
11 recursive2(property: AmayLis . data: TestCase, number: int, count] int)
12 . data: String)
5 mayListeString>, data: String)
15 14 : add(singleTc:SingleTestCase)
)
s e U
17 : getFeedBack(table: Table ) L

| 18 getMessage()
feedbackContrainer = getFeedback | |_

197 5

22 displayTelist()

[else)

linteraction FeesualCPT_TestcaseDesc )
% mc: MainController teList: TestCase singleTcList: SingleTestCase
Lifeline1: User
1: click JList or JButton H
alt )
2 : displayDesc()
[request == tcList]
3: getAt()
4 : getDesc()
L 5t L
[request == prevDesc] 6 : getPrevDs
7 : prevPos( )
: displayDesc( )
9: getAt()
10 : getDesc( )
[request == nextDesc] .
12 : getNextDesc(index:int)
13 : nextPos
. 14 : displayDesc( )
15 : getAt()
16 : getDesc( )
17: LJ
interaction FeesualCPT_Save J
% l ‘me: MainController I I tiController: TextFileController | Table I | TestCase I l SingleTestCase
Lifelinel: User
1: click Save
—’D 2: saveCall()
3: Table, tcList:TestCase) .
T 4 : getTable()
6: getAt() 7: getbesc()
8 d
9: getSingleTcList §
getSingleTcList() o Ty i
)|
i ) 1 :
H 12: TestCase.txt i
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4. Activity 2051. Implement Class & Methods Definitions

2|5t= class

Type Class
Name Main
Purpose GUI B¢
Overview AHERLS| AEY 2l Y= class
Cross Reference Function: All
UseCase: All
Exceptional Courses of Events N/A
Type Method
Name initComponents
Purpose GUI 4H z=7|5 2 GUI B X|
Cross Reference Function: All
UseCase: All
Input N/A
Output N/A
Abstract operation GUI AKX =73}
Exceptional Courses of Events N/A
Type Class
Name MainController
Purpose GUIZ S°f 2 AFgXtol 282 Nalstn
2[3t7] 218
Overview GUIZ Sdf 2o AlgXtel 282 Halstn o

Cross Reference Function: All
UseCase: All
Exceptional Courses of Events N/A
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Type Method

Name getPrevDesc

Purpose TestCaseOf A O &M 2HS &7] UK
Cross Reference Function: R3

UseCase: Test Case Desc

Input

index: int

Output

N/A

Abstract operation

TestCaseO| Al O] MM HE=Z &

JiE
o
o

Exceptional Courses of Events

N/A

Type Method
Name getNextDesc
Purpose TestCaseOf| A O &M 2HS &7] UK

Cross Reference

Function: R3

UseCase: Test Case Desc

Input

index: int

Output

N/A

Abstract operation

TestCaseO| Al O] MM HEZ &

JiE
o
o

Exceptional Courses of Events

N/A

Type Method
Name displayDesc
Purpose MM E TestCaseE EO{F7| 2/l

Cross Reference

Function: R3

UseCase: Test Case Desc

Input N/A
Output N/A
Abstract operation MM El TestCaseSS Z=ZH|ECH
Exceptional Courses of Events N/A
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Type Method

Name setinput

Purpose AHERZE BO| YD 2HE2 TableO| TESHY|
<1oH

Cross Reference Function: R1

UseCase: SetTable

Input

input: String, y: int, x: int

Output

N/A

Abstract operation

AFERIZE O AT S TableO| MT LY.

Exceptional Courses of Events

N/A

Type Method
Name initTable
Purpose 0| TableQ| Constraintsgte O|O{EIOMHA =

7|5} 37| %Ik

Cross Reference

Function: R1, R2
UseCase: SetTable, Analyze

Input

N/A

Output

N/A

Abstract operation

MZ& Table2 EBE31 O™  TableQ

Constraintsaf= A& oLt

Exceptional Courses of Events N/A

Type Method

Name analyzeCall

Purpose TestCaseE THE & U=X| olstn d-gst7|
o=
ks

Cross Reference

Function: R2, R2.1, R2.2
UseCase: Analyze, Mk Feedback, Mk Test Case

Input N/A
Output N/A
Abstract operation X MEE TableZ TestCaseS MME £+
CHEH Mgt medws L2z, WE5HKA
ot off Rot=X| Ye{ELt
Exceptional Courses of Events N/A
2017 10
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Type Method
Name displayFeedback
Purpose KZEE feedbacks 2O F7| 2[dh

Cross Reference

Function: R2

UseCase: Analyze

Input

N/A

Output

feedbackMsg: String

Abstract operation

XMZEl feedbackS HtEtsiCt

Exceptional Courses of Events N/A

Type Method

Name displayTcList

Purpose MM TestCaseE2 HOIF7| 2l

Cross Reference

Function: R3

UseCase: Test Case Desc

Input

N/A

Output

rtnList: ArrayList<String>

Abstract operation

MM TestCaseS 2| AN MHE vtstsict

Exceptional Courses of Events

N/A

Type Method
Name saveCall
Purpose AEXL7L SaveR B S SIZE I 282 MF

7| <5l

Cross Reference

Function: R4

UseCase: Save File

Input

N/A

Output

N/A

Abstract operation

AEXLO| SavaRE S HAENIAAEEZ O M

ot

Exceptional Courses of Events

N/A

2017
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Type Class

Name Table

Purpose AL X}t TestCaseE Hd5H7| sl ot &
== MT5t7| fI6k

Overview AL X}t TestCaseE Hd5H7| s ot &

== XN&St= class

Cross Reference

Function: R1, R2, R2.1, R2.2, R4
UseCase: Set Table, Analyze, Mk Feedback, Mk

Test case, Save File

Exceptional Courses of Events N/A

Type Method

Name setTable

Purpose AMEXEZE =it 4f2 TableO XZ S| 2l
Cross Reference Function: R1

UseCase: Set Table

Input

input: String, y: int, x: int

Output

N/A

Abstract operation

AFEXZE  ESE  ZE2 TableOl A ZESiCE
addRow(Method)E ZZ3%}0] TableO| & #2

AL Tablel| A7|E2 5HELL

Exceptional Courses of Events N/A

Type Method

Name addRow

Purpose TableO| 2t2 MEE M, TableO| & XS &R

o
Table2| A7[E &F7| <IdH

Cross Reference

Function: R1
UseCase: Set Table

Input

y:int

Output

N/A

Abstract operation

table: String[]]0l X127} BE& XMHO| &=
o, O XMEE 0] A2 FE20 tableQ| A7

£ =2 M2 MEooh

Exceptional Courses of Events

N/A

2017
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Type Method
Name setCheckBox
Purpose AFEXEZE M=ot MIBAS| ZHE Tabled| X

71 21

Cross Reference

Function: R1
UseCase: Set Table

Input

index: int

Output

N/A

Abstract operation

HMAst AMIZLtASl oM Ztm BHHZ 3o
TableO| X Z&SHCE,

Exceptional Courses of Events N/A

Type Method

Name getRow

Purpose TableO| MZE|0] U= table: String[12] A7|E

%] 2l

Cross Reference

Function: R1, R2, R2.1, R2.2, R4
UseCase: Set Table, Analyze, Mk Feedback, Mk
Test case, Save File

Input

N/A

Output

row: int

Abstract operation

TableO| K&

S getotr}

AE table: String[][12] 37|

Exceptional Courses of Events

N/A

2017
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Type Method
Name getTable
Purpose TableO ME /0] A& table: String[ll2 7|

Sk

Cross Reference

Function: R1, R2, R2.1, R2.2, R4
UseCase: Set Table, Analyze, Mk Feedback, Mk

Test case, Save File

Input

N/A

Output

table: String[][]

Abstract operation

TableO| MHE|O| Q£ table: String[][]2 Ptet
g

Exceptional Courses of Events N/A

Type Method

Name getConstraints

Purpose TableO| X&E0] Q&= Constraints: boolean]]

= 7] 25|

Cross Reference

Function: R1, R2, R2.1, R2.2, R4
UseCase: Set Table, Analyze, Mk Feedback, Mk

Test case, Save File

Input

N/A

Output

Constraints: boolean[]

Abstract operation

TableO| X&E0] Q& Constraints: boolean]]

S uglsiC

[

Exceptional Courses of Events N/A

Type Method

Name getCount

Purpose TableOf| 2t0] HE UHE[JA=X| 7] LUK

Cross Reference

Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Input

N/A

Output

count: int

Abstract operation

count; intE gL

Exceptional Courses of Events

N/A

2017
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Type Method
Name setConstraints
Purpose Constraints: int[]S A&E3}7| sl

Cross Reference

Function: R2

UseCase: Analyze

Input

tf0: boolean, tf1: boolean, tf2: boolean

Output

Abstract operation

lEete ZtO 2 Constraints: int[]S A& $HCL.

Exceptional Courses of Events

Type Class

Name Feedback

Purpose AEXRA L2z HAMXIE M| 2loH
Overview ALEXHOIA Le4E OIMAIZE HEE class

Cross Reference

Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Exceptional Courses of Events N/A

Type Method

Name getMessage

Purpose Feedback classOfl = HAMZXIE getst?| Il

Cross Reference

Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Input

Output

errorMessages: String

Abstract operation

Mg HAMXIE gretetct

— -

Exceptional Courses of Events

N/A

2017
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Type Class

Name FeedbackController

Purpose A RO A Feedbacks ZEiF7| sl
Overview A2 X0 A L2{E Feedbacks ZM$HCH

Cross Reference

Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Exceptional Courses of Events N/A

Type Method

Name getFeedback

Purpose YHLZ TableO| St= feedbackE &4435tH7|
S| 5H

Cross Reference

Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Input

table: Table

Output

feedbackList: Feedback

Abstract operation

2 M5t feedbackeS HhetsiCE,

Exceptional Courses of Events N/A

Type Method

Name getFeedback

Purpose UHYP2 TestCasel| H+= feedbackE® &4t
7| I8l

Cross Reference

Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Input

tcList: ArrayList<TestCase>

Output

feedbackList: Feedback

Abstract operation

2 M3t feedbacks HhststCY

Exceptional Courses of Events

N/A

2017
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Type Method

Name isSuccessful

Purpose 2 HH2 Table2 TestCaseE TS = UK
A=Kl =olstr] sk

Cross Reference Function: R2, R2.1
UseCase: Analyze, Mk Feedback

Input table: Table

Output successful: boolean

Abstract operation Y2 TableZ TestCaseE THE = UEX|

2 M8[0] Hrasict

Exceptional Courses of Events N/A

Type Class

Name SingleTestCase

Purpose TestCaseE Tdst= 71 X2 HRQ
TestCaseZA|, i Reference Number2t 4fA|
2= M52 2l

Overview TestCaseS 9|

TYSE My ®e e
A

28s Mottt

Cross Reference

Function: R2, R2.1, R2.2, R3, R4
UseCase: Analyze, Mk Feedback, Mk Test Case,

Test Case Desc, Save File

Exceptional Courses of Events N/A

Type Method

Name getRefNum

Purpose M0 A= Reference Numbers 7| 2ldf

Cross Reference

Function: R2, R2.1, R2.2, R4
UseCase: Analyze, Mk Feedback, Mk Test Case,

Save File

Input

N/A

Output

refNum: String

Abstract operation

MEEI0 e Reference NumberES HHshstCt

Exceptional Courses of Events

N/A

2017
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Type Method
Name setRefNum
Purpose refNum: String B8 2735t7] 2/l

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input

refNum: String

Output

N/A

Abstract operation

refNum: String BH==& Oj7ifH+=2 20}

Exceptional Courses of Events

N/A

Type Method
Name getDesc
Purpose HEE0f e desc: Strings L7| 2/l

Cross Reference

Function: R2, R2.1, R2.2, R3, R4
UseCase: Analyze, Mk Feedback, Mk Test Case,

Test Case Desc, Save File

Input

N/A

Output

desc: String

Abstract operation

X0 A= desc String=

T
riot
rot
o

r

Exceptional Courses of Events

Type Method
Name setDesc
Purpose desc: String B8 2735t7| 25k

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input

desc: String

Output

N/A

Abstract operation

desc: String H=& O/ =2 20}

Exceptional Courses of Events

N/A

2017
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Type Class

Name TestCase

Purpose AFEAZE e EStRE I Y dEoforst= ZAat
== MYEsH7| fl8h

Overview ALERZE a¥FStel WHEStE classO| 4,

o
Reference Number@} ST AHA|AEHO|
Ct Ao =7t = o, SHHA =0
s

UA pos:int HEE ZBSICE

Cross Reference

Function: R2, R2.1, R2.2, R3, R4
UseCase: Analyze, Mk Feedback, Mk Test Case,

Test Case Desc, Save File

Exceptional Courses of Events N/A

Type Method

Name nextPos

Purpose Reference Number®t diE AAMAHO| ZTS

S e A 27| {Al

Cross Reference

Function: R3

UseCase: Test Case Desc

Input

N/A

Output

N/A

Abstract operation

pos: int2| Zf2 1 S7FAZICE

Exceptional Courses of Events

pos: int2| 20| TestCastl| 7H=E EHO{7tH C}
Al Mg 42 Sotgtct

Type Method
Name prevPos
Purpose Reference Number®t s AMAHO| ZTS

T O A= £7] 2l

Cross Reference

Function: R3

UseCase: Test Case Desc

Input

N/A

Output

N/A

Abstract operation

pos: intQ| &f2 1 HAA|ZICH

Exceptional Courses of Events

pos: intQ ZtO| OECH ZfOIX|® Fgol Boz
=OFZtCf,

2017
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Type Method
Name getSingleTcList
Purpose singleTcList: ArrayList<SingeTestCase>E 7|

Sk

Cross Reference

Function: R2, R2.1, R2.2, R3, R4
UseCase: Analyze, Mk Feedback, Mk Test Case,

Test Case Desc, Save File

Input

N/A

Output

singleTcList: ArrayList<SingleTestCase>

Abstract operation

singleTcList: ArrayList<SingeTestCase>& Bttt
C}.

Exceptional Courses of Events N/A

Type Method

Name Add

Purpose singleTcList: ArrayList<SingleTestCase>0f|

SingleTestCaseE Z7}$tCt.

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input ref: String, desc: String
Output N/A
Abstract operation AHI2 A& o] &35} singleTcListOf|

SingleTestCaseS A Ast0] FIt5HC}

Exceptional Courses of Events

N/A

2017

20




Ver 1

Type Method
Name getAt
Purpose pos: int /X0 A& SingleTestCasel| A AHH

= 7] 25|

Cross Reference

Function: R3

UseCase: Test Case Desc

Input

N/A

Output

singleTcList.get(this.pos).getDesc(): String

Abstract operation

pos: int Y/X[0 RAE SingleTestCasel| &MY

S uisbsiC

| My W

Exceptional Courses of Events N/A

Type Class

Name TestCaseController

Purpose TestCaseE ‘4dstn 22[5t7| 2/l
Overview TestCaseE 445t ZE[5t= class

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Exceptional Courses of Events N/A

Type Method

Name makeTc

Purpose TestCaseE &85+ tcList:

ArrayList<TestCase>O0f| Z=7ttC},

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input

Table: Table

Output

N/A

Abstract operation

Singlelt errorE ™A ZHAMSHO TestCaseListOf|
Z=7tsk4, if-propertyZt A+ subCategory2t 2
= subCategoryE &2[3tCt propertySub’| 2|
50 =l

propertyTcE

nonPropertySub”| 2| Zg5t0] nonPropertyTc
£ GTHECH nonPropertyTc?t propertyTcE =%

St0| TestCaseES DS O{LHA tcListOf Z=74SHCH

2017
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Exceptional Courses of Events N/A

Type Method

Name checkProperty

Purpose If7t A= B2 iy =H0o| X Property”t

UA=R| AASI0] HAHZINE Hhetottt,

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input

Property: ArrayList<String>, data: String

Output

True / False

Abstract operation

if7t 170 5o Sl= &% PropertyArrayListOf|
O true, A2 H false

o
£ gretotr} 2710[d A= 8% =Z2[5t0] B
s

Exceptional Courses of Events N/A

Type Method

Name saveProperty

Purpose SIS propertyE property: ArrayList<String> Ofl

= 7hetCt

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input

Property: ArrayList<String>, data: String

Output

N/A

Abstract operation

PropertyZt 174 o gle 4
PropertyArrayListOl Z=7tst1, 2700[4 U=

2 £2[5l0] PropertyArraylist0i| Z=7}$tC}

oY o

Exceptional Courses of Events

N/A
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Type Method
Name Recursive2
Purpose propertyTc: ArrayList<TestCase> O

propertyTestCaseE 7%t

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input Property: ArraylList<String>, data: TestCase,
number: int, count: int
Output N/A

Abstract operation

o

Property7t = SubCategory= 7te| =g
TestCaseOl $7t35}0] TestCaseListOff F7}$HC

Exceptional Courses of Events

N/A

Type Method
Name RecursiveT
Purpose nonPropertyTc: ArrayList<TestCase> O

nonPropertyTestCaseS 3= 7+¢HCt.

Cross Reference

Function: R2, R2.2
UseCase: Analyze, Mk Test Case

Input

Data: TestCase, number: int, count: int

Output

N/A

Abstract operation

—

Property?t §l= SubCategorys= 7t°| ZXg
TestCaseOfl $7}510] TestCaseListO| 3=7}$tCt.

o

Exceptional Courses of Events

N/A

Type Class

Name TextFileController

Purpose ArEX7F 2ot Tabledt HdEl TestCaseE H
AEMYR XMESH| 25k

Overview A& XE7¢ 225t Tabledt M El TestCaseE Hl

AEDYUZE XNESH=E class

Cross Reference

Function: R4

UseCase: Save File

Exceptional Courses of Events

N/A

2017
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S txt L2 XNFH7| A

Type Method
Name saveRequest
Purpose AME X7 =B Tabledt MEE TestCase

Cross Reference

Function: R4

UseCase: Save File

Input

table: Table, tcList: ArrayList<TestCase>

Output

TestCase.txt

Abstract operation

AHERZE =Tt Tabledt HdE

tu
Rl
031
o
il

£ txt ot

TestCase

Exceptional Courses of Events

N/A

5. Activity 2052. Implement Windows

interaction FeesualCPT_SetTable J

:

Lifelinel: User

1: click JTable or JCheckBox

2 : setinput(input:String, y:int, x:int)

mc: MainController table: Table

R o

[y>=0] :
3 : setTable(input:String, y:int, x{int) :
4 : addRow( y: int)

6 : setCheckBox(index: int)
: Iy
7 : L

Name click JTable or JCheckBox
Responsibilities GUIO| A TableO|Lt CheckBoxE +ECt
Type GUI

Cross Reference

R1

Notes

GUIOA TableO|L} CheckBoxE F+EC}.

Pre-Conditions

GUI E0| =Lt

Post-Conditions

wAol Yo mat UE FAISt 2o =L

2017
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interaction FeesualCPT_Analyze )

me: MainController

feedbackList: Feedback

‘ foController: FeedbackController

Lifeline1: User
1: analyzeButton
2: analyzeCall()

teController: TestCaseController

teList: TestCase

3 getFeedback( table: Table)

| Jp—
P ——

5 L
7: isSuccessful()

£

[isSuccesstul == tue]

22 displayTeList()

9: makeTc(tableObj Table)

10 recursivel(data:

lestCase, number. int, count: int)

12

11 recursive2(property: ArayLi ‘% data: TestCase, number; int, count; int)
mayList<String>, data: String)

13

15 getTestCaseList()

16 teLisiContainer = getTestCaseList

17 : getFeedBacktable: Table )

\ 1 gussape()

20 = getFeedback | | M|
........................................ 15 b

mayList<String>, data: String)
14 add(singleTc:SingleTestCase)

“ 724" displayFeadback() u‘

Name

analyzeButton

Responsibilities GUIOIA analyzeButton2 +ECt.
Type GUI

Cross Reference R2, R2.1, R2.2

Notes GUIO| M analyzeButtong +£LC}

Pre-Conditions

Tabledf 2tO] MEEOf RULH.

Post-Conditions

XMZEEl Tableg ol Feedbacka

UCHEH A gotCt.

A, TestCases

2017
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linteraction FeesualCPT_TestcaseDesc )

%

Lifelinel: User

1: click JList or JButton

mc: MainController singleTcList: SingleTestCase

CI

2: displayDesc()

[request == tcList]

6 : getPrevDesc(index:int)

3: getAt()

U 4 : getDesc() o

e ]

[request = nextDesc]

12 : getNextDesc(index:int)

7 prevPos()

L . 8 displayDesc()

9: getAt()

13 : nextPos

14 : displayDesc()
15 : getAt()

16 : getDesc( )

Name

click JList or JButton

Responsibilities

i
Il
o

GUIOJA{ JListLt prevButton, nextButton=

Type

GUI

Cross Reference

R3

Notes GUIO A JListLt prevButton, nextButtong +ELCt.
Pre-Conditions AnalyzeE Sl P2 Test Case 2Z|A2EE ERSICL
Post-Conditions FXQ WMo M2t Test Casel| &AM HEE &5 ot
LHE Z2LC}
|interaction FeesualCPT_Save J

=l

Lifelinel: User

1: click Save

mc: MainController

| tiController: TextFileController

| Table ‘ l TestCase | ‘ SingleTestCase

- 2 saveCall() ¢
saveRequest(table: Table, tcList:TestCase) 4: getTable()

6: getA()

7: getbesc()

9: getSingleTcList()

12 TestCase.txt

= il “d

2017
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Name click Save

Responsibilities GUIOIIA Save HHES FELCt

Type GUI

Cross Reference R4

Notes GUIOIAN Save HHES FELCt

Pre-Conditions N/A

Post-Conditions Table Y0t ZE Test Cases2 N
TestCase.txtS “&-dtCt

6. Activity 2055. Write Unit Test Code

org.junit.Assert.;

rt java.util.ArrayList;

rt org.junit.Test;
FeedbackControllerTest {

FeedbackController

@Test

fb

}

@Test

@Test

@Test
void test(

<FeedbackControllerTest>
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import static org.junit.Assert.x;
import org.junit.Test;
public class FeedbackTest {
Feedback
@Test
public void testGetMessage() {

String - = "RIGHT";
fbt = new Feedback(str);

assertEquals(fbt.getMessage(), str)

}

@Test

public void testGetMessagel() {
String strl = "RIGHT";
String -2 = "WRONG";
fbt = new Feedback(strl);
assertEquals(fbt.getMessage(), str2)

<FeedbackTest>

Team 8
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import static org.junit.Assert.x;
rt java.util.ArrayList;
org.junit.Test;

class TestCaseControllerTest {
TestCaseController

@Test
public void testGetTestCaseList() {
tcc = TestCaseController();

assertNull( .getTestCaseList());

@Test
lic void testGetTc() {
MainController w MainController();

.setInput("1.1.1", 0, 0);
.setInput("AlAE 4u", o,
etInput ("ZOHEZ"
.setInput("3", 0, 3);
.setInput("OBSFR", @, 5);

.setInput("1.1.2", 1, 0);
.setInput("A|AR M, 1, 1);
.setInput("ZoOi=%", 1, -
.setInput ("4 3);
.setInput("OBSFD", 1, 5);

.setInput("1.1.3", 2, 0);
.setInput("A|AR M, 2, 1);
.setInput("HOH=Z", 2, 2);

- Input("XZ", 2, 3);
.setInput("OBSEQ", 2, 5);

.setInput("1.1.4", 3, 0)
.setInput("AlAE 4u", 3,
.setInput ("&Oi=Z", 3,
etInput ("
.setInput("OBSCR", 3, 5);

.setInput("1.2.1", 4, 0);
.setInput("AlAH oM™, 4, 1);
.setInput("AIE0|M", 4, 2);
.setInput("AIF", 4, 3);

.setInput("1.2.2", 5, 0);
.setInput("A|AE M, 5, 1);
.setInput("AlE20|4", 5, 2);
.setInput("dX|", 5, 3);
.setInput("error", 5, 7);

.setInput("3.1.1", 6, 0);
.setInput("#7|& display", 6, 1);
.setInput("EA", 6, 2);
.setInput("7H8l 24", 6, 3);
.setInput("wWEI", 6, 5);

<TestCaseController1_1>
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<TestCaseControllerTest1 2>

2017

.setInput("3.1.2", 7, 0);

.setInput("A7|% display", 7, 1);

.setInput("EA", 7 g
tInput("28 &#=", 7, 3);
2tInput(“single", 7, 6);

tInput("3.1.3", 8, 0);

tInput("A7|E display", 8, 1);
.setInput("EA", 8, 2);
.setInput("chi?| QI&", 8, 3);

.setInput("3.1.4", 9, 0);
.setInput("A7|% display", 9, 1);
.setInput("EA", 9, 2);
.setInput("2E<2 §", 9, 3);

setInput("3.1.5", 10, 0);
Input("A7|Z display", 10, 1);
Input("EA", 10, 2);
tInput("BH¥", 10, 3);

setInput("3.1.6", 11, 0);
.setInput("A7|% display", 11, 1);
.setInput("EA", 11, 2);
.setInput("&% 2l&", 11, 3);

.setInput("2.1.1", 12, 0);
.setInput("43", 12, 1);
.setInput("s2 44", 12, 2);
.setInput(">= 0 ¢ F3", 12, 3);

2tInput("2.1.2", 13, 0);
tInput (43", 13, 1);
tInput("&2f 44", 13, 2);
tInput("2 9", 13, 3);
.setInput("error", 13, 7);

.setInput("2.2.1", 14, 0);
.setInput("43", 14, 1);
.setInput("2E &", 14, 2);
.setInput(">= 0 ¢ FH2", 14, 3);

.setInput("2.2.2", 15, 0);

setInput("43¥", 15, 1);

setInput("2E &3, 15, 2);
Input("2 9", 15, 3);

setInput("2.3.1", 16, 0);
.setInput("43",

.setInput ("Hx
.setInput(">= 0

.setInput("2.3.2", 17, 0);
.setInput("43", 17,
.setInput("&d %4 ", 17,
.setInput("21 9", 17,
.setInput("error", 17,

Team 8
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.setInput("2.
.setInput(

.setInput(
.setInput(

.setInput("2.4.
.setInput("A&"
.setInput ("7
("2
("e

.setInput 9|

.setInput

.setInput("2.5.
.setInput("d3"
.setInput ("7t
(
(
("

.setInput

.setInput("WEI",
'WEIBELW",

.setInput

.setInput("2.5.
.setInput("AF"
.setInput ("7

.setInput("> 8x & 2A", 21,
.setInput("WEI",
.setInput("WEIOVER", 21, 5);

.setInput("4.
Xl

.setInput “JO

.setInput
.setInput

(

(
.setInput ("X

(

(

-1
no|
0B

.setInput

ng.
.setInput("%

.setInput ("7

-]

<= oA & 2",

’
A

2",

1#u
", 19, 30

error", 19, 7);

1", 20, 0);
, 20, 1);
BtA 2A", 20,

20, 4);

2", 21, 0);
21, 1);
A 2A", 21,

=

21, 4);

1.2", 23, 0);

(

("Folchs", 23, 1);
.setInput("SicisS", 23, 2);

(

(

OAﬂEX“ 23’

TES

.setInput("OBSFR", 23, 4);

.setInput
.setInput

1.3", 24, 0);

4.
“Eoichs", 24, 1);

.setInput("sxj ZigH, 24, 3);
.setInput("OBSFR", 24, 4);

.setInput 22

4.
.setInput("&0

.setInput("1& oIy
"0BSF

.setInput

.setInput 2.
.setInput("Zof
3

("4.
(s
.setInput ("4
(
(

.setInput ("7t
.setInput("OBSF

<TestCaseControl

2017

(

("ZoficH
.setInput("$3fch

(

(

(
(
.setInput ("SCHS", 24, 2);
(
(

1", 25, 0);
tn 7=y T)E
3, 25, 2);
ms A",

D", 25, 4);

2", 26, 0);
=26, 1);
%", 26, 2);

26,
D" 26, 4);

lerTest1_3>

20, 5);

2)'

20, 3);

2);
3);
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.setInput("4.3.1", 27, 0);
.setInput ("Foich8", 27, 1);
.setInput("X|ZIh8", 27, 2);
.setInput("QHols] Hy", 27,
.setInput("0OBSEQ", 27, 4);

.setInput("4.3.2", 28, 0);
.setInput("ZoicS8", 28, 1);
.setInput ("X|ZIhS8", 28, 2);

.setInput("7iel S=", 28, 3);

.setInput("OBSEQ", 28, 4);

.setInput("4.4.1", 29, 0);
.setInput("Foichi8", 29, 1);
.setInput ("Fh8", 29, 2);
.setInput("QHols] Ly", 29,
.setInput("0OBSCR/WEIOVER",

.setInput("4.4.2", 30, 0);
.setInput ("FoiciS8", 30, 1);
.setInput("F=hS8", 30, 2);
.setInput("QHus] Y4", 30,
.setInput("0OBSCR/WEIOVER", 30, 4);

SNk

.setConstraints(true, true, true);

r.makeTc(

);

. tcCor Ller.getTestCaseList().size();

<TestCaseControllerTest1 4>

2017

assertEquals(mc. tcf r -.getTestCaselList().size(), 55);
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.setInput
.setInput("0BSCR", 3, 5);

.setInput

public void testGetTc2() {
MainController

.setInput("1.1.1", 0, 0);
.setInput ("AlAE H4M", 0, 1);
.setInput ("ZO=Z", 0, 2);
.setInput("&x", 0, 3);
.setInput("OBSFR", 0, 5);

.setInput("1.1.2", 1, 0);
.setInput("AlA" HYM", 1, 1);
.setInput ("ZO4=Z", 1, 2);
.setInput("$3", 1, 3);
.setInput("OBSFD", 1, 5);

.setInput("1.1.3", 2, 0);
.setInput("AJA” M, 2, 1);
.setInput ("ZO4=Z", 2, 2);
.setInput("X|ZI", 2, 3);
.setInput("0OBSEQ", 2, 5);

.setInput("1.1.4", 3, 0);

.setInput ("AlA" YM", 3, 1);

.setInput ("ZOf=E", 3, 2);
(
(

ngEp, 3, 3);

.setInput("1.2.1", 4, 0);
.setInput("AlAE HM™", 4, 1);
.setInput("AIE0|M", 4, 2);
.setInput("AIE", 4, 3);

.setInput("1.2.2", 5, 0);
.setInput("AlA" HYM", 5, 1);
.setInput("AIEg0|M", 5, 2);
.setInput("dX", 5, 3);

(

‘error", 5, 7);

.setInput("3.1.1", 6, 0);
.setInput("#7|% display", 6,
.setInput("EA", 6, 2);
.setInput("7hgl £A", 6, 3);
.setInput("wEI", 6, 5);

<TestCaseControllerTest2_1>

2017

= new MainController();
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}

.setInput(“4.3.1", 27, 0);
.setInput ("FoiCH8", 27, 1);
.setInput("X|ZCHS", 27, 2);
.setInput("QIHOs] L4", 27,

setInput("OBSEQ", 27, 4);

.setInput("4.3.2", 28, 0);
.setInput("ZoicHS", 28, 1);
.setInput("X|ZICHS", 28, 2);

<)H

setInput("7gl S=", 28, 3);

.setInput("0OBSEQ", 28, 4);

.setInput(“4.4.1", 29, 0);
.setInput("ZoicHS", 29, 1);
.setInput("F2i8", 29, 2);

.setInput("QHms] L4, 29,
.setInput("0BSCR/WEIOVER"

.setInput("4.4.2", 30, 0);
.setInput("ZoicHS", 30, 1);
.setInput ("FT8", 30, 2);
.setInput("QHms] w4", 30,
.setInput("0BSCR/WEIO

k) H

29, 4);

3);

, 30, 4);

.setConstraints(false, false, false);

-.makeTc(

. r .getTestCaseList().size();
assertEquals(mc. tcl ler.getTestCaseList().size(), 960);

<TestCaseController2_4>

2017

);
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import static org.junit.Assert.x;
rt java.util.ArrayList;
rt org.junit.Test;
public class TestCaseTest {
TestCase
@Test
public void testNextPos() {
tc TestCase();
assertEquals(@, - D

assertNotSame(-1, . IE

}

@Test

publ void testNextPos1() {
tc = new TestCase();
assertEquals(-1, .pos);

void testPrevPos() {
tc = new TestCase();
.prevPos();
rtEquals(-1,
assertNotSame(0,

testPrevPos1() {
TestCase();
Pos();
assertEquals(0,

}

@Test
public void getSingTcListTest() {
tc = new TestCase();
ArrayList<SingleTestCase = new ArrayList<SingleTestCase
assertArrayEquals( .toArray(), .getSingleTcList().toArray());
}

@Test

publ void getSingTcListTestl() {
tc = new TestCase();
ArrayList<String = new ArraylList<String
assertTrue(stlist.equals(tc.getSingleTcList()));

void testGetAt() {
1He new Tes
.add(null, , null, null);
.getAt());

<TestCaseTest>
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7. Activity 2061. Unit Testing

Runs: 6/6 B Errors: 0 B Failures: 2

¥ Hi] FeedbackControllerTest [Runner: JUnit 4] (0.001 s)
EteslGe!FeedbackArrayLis(OfTes(Case1 (0.000 s)
ElestGetFeedbackArrayLis(OfTestCase2 (0.000s)
£/ testGetFeedbackTable (0.000 s)
¢ |testGetFeedbackTable1 (0.000 s)

12 testGetFeedbackTable2 (| 0 s)

EleslGetFeedbackArrayLis(OfTestCase (0.001 s)

= L
= Failure Trace oF

JQ java.lang.AssertionError: same:<F 04b5> was not:<Feedb
= atf Test. Table: Test.java

<FeedbackControllerTest>

Runs: 2/2 @ Errors: O @ Failures: 1

¥ gic] FeedbackTest [Runner: JUnit 4] (0.001 s)

7= testGetMessage1 (0.001 s)

£| testGetMessage (0.000 s)

= Failure Trace 2
0 org.junit.C; isonFailure: 1T]> but was:<[WRONG]>
= at FeedbackTest.testGetMessage1(FeedbackTest.java:21)

<FeedbackTest>

Runs: 3/3 @ Errors: 0 B Failures: 0

v Q TestCaseControllerTest [Runner: JUnit 4] (0.001 s)
£/ testGetTestCaseList (0.001 s)
| testGetTc (0.000 s)
£/ testGetTc2 (0.000 s)

*III*

= Failure Trace

<TestCaseControllerTest>
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Runs: 7/7

B Errors:

0 B Failures: 2

V @t TestCaseTest [Runner: JUnit 4] (0.000 s)
£E]testGetAt (0.000 s)
¢E]testPrevPos (0.000 s)
pgtestPrevPos‘l (0.000 s)

ﬂgetSinchListTesﬂ (0.000 s)
,‘j:J getSingTcListTest (0.000 s)

£ testNextPos (0.000 s)

7= testNextPos1 (0.000 s)

= Failure Trace

J; java.lang.AssertionError: expected:<-1> but was:<0>
= at TestCaseTest.testNextPos1(TestCaseTest.java:21)

<TestCaseTest>

8. Activity 2063. System Testing

Ver 1

Number | Test &5 Test Desc UseCase Function
1-1 Input Test HO| 22 Y=L Set Table R1
1-2 Input Test HO| 22 2=t CHA| X|2CtH Set Table R1
2-1 Anaylze Test | 8l EY [ Analyze HEZ 2Lt | Analyze R2
2-2 Analyze Test | EO| ¥%2 ¢S ML Analyze H | Analze R2
=2 FEu
2-3 Analyze Test | EO| £XES ¢t2 MR Analyze | Analyze R2
HES FECt
3-1 Feedback 8 #Y O AnalyzeH{EZ2 +& %l | Mk Feedback R2.1
Test Feedback2 & QI3tCt
3-2 Feedback TableQ| SingleZtOll errorE Y33t | Mk Feedback R2.1
Test AnalyzeHHES2 FE Fl Feedbacka
2toloket,
3-3 Feedback PropertyZt0i ABCE R3St IfZH0] | Mk Feedback R2.1
Test LBSHA| 2 XE AnalyzeHES
+2 5 FeedbackZ & QI%tCt
3-4 Feedback Y3H22 TestCaseE Tt Fl | Mk Feedback R2.1
Test Feedback2 &QI%tCt
4-1 Make g #Y O AnalyzeHHEE F& Tl | Mk Test case R2.2
TestCase Test | All Steps ListE ZHQIgHCt,
4-2 Make TableQ| SingleZtoll errorE Y23t | Mk Test case R2.2
TestCase Test | AnalyzeHHES +& T All Steps List
£ gt
4-3 Make PropertyZt0ll ABCE 2 =3t IfZH0] | Mk Test case R2.2
TestCase Test | Y&SIX| %2 XHE AnalyzeHES
£2 5 All Steps ListE =QIstCt.,
2017 Team 8 37




Ver 1

4-4 Make SEHOE TestCaseS M3t F All | Mk Test case R2.2
TestCase Test | Steps ListE =St =& =l
Cf.
5-1 TestCaseDesc | SN O 2 TestCaseES 8%t F All | Test case Desc R3
Test Steps ListOl M 2 =& F+ECt
5-2 TestCaseDesc | SN O 2 TestCaseE Md%t F All | Test case Desc R3
Test Steps ListOl M 2H® &2 FE F <
HEZ FECt
5-3 TestCaseDesc | SN O 2 TestCaseES 8%t F All | Test case Desc R3
Test Steps ListOl M 2H® &2 +E & >
HEZ FECt
6-1 Save Test Save HES FE2C} Save File R4
6-2 Save Test dEHOE TestCaseE W3t 5l | Save File R4
Save HEES FEL}L
- 1-1: 2O ¥ H3 (Pass)
- 1-2: 20| €8 = AMX H3S (Pass)
- 2-1:Analyze HHE 28 43 (Pass)
- 2-2:Analyze HHE 28 43 (Pass)
- 2-3:Analyze HHE 28 43I (Pass)
- 3-1: 4l Table2 &2|= Feedback =9l (Pass)

2017

3-2:

3-3:

3-4:

4-1:

4-2:

4-3:

4-4:

5-1:

5-2:

Constraints7} &

2o QCtn LE|= Feedback &9l (Pass)

Constraints7t Z2Z|ACt 22| = Feedback 22l (Pass)

Analyze 3 E|UCtD Y2[= Feedback =l (Pass)

All Steps List?t HIRAZ2 =l

All Steps List7t H| !

ojo
mjo
ok
re
el
Q

%]

&

njo
jor
i)

All Steps List7t HIRXS

All Steps Listofl 4&3X Q1 747t SS &9l
22U Z9| desc &9l (Pass)

1702 TestCase®| CtE desc &9l (Pass)
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5-3: 1712| TestCase2| CtE desc 22! (Pass)

6-1:

6-2: Table, TestCase, Constraints7f X Zt=l ElA EntQQl

Hl
—

BIAETY 20l (Pass)

Ver 1

Number | Test &= Non-Functional Requirements
NF_T AFHO S=5X &2 At7b Tabled| YHZ | AFEXIZE Tableo| €2 &A =Y = AY
=HQ0| YHY 5 A=X| =Helstrt OF ghCt.
NF_2 Category Partition TestOf Cieh 7|2H Q1 X|Al | ALEXA[7t TableOf U E S XXz =
Of A= MES0A HFEES EAFX @0 | = UA oioh
Table2 20| 2 M, i Testol CHeH =&
O ofsistr A=X| =Holotet,
NF_3 Category Partition TestOl CHZF 7|2X Q1 X|& | TSt FeedbackE2 AREAIZE L0 =75}
O] Ae MEBEOAH Feedbacks FAS W & | 7| A LA=ECH
HE2 A Ol8i5t=X| 2Qlgtet.
NF_4 Category Partition TestOf CHRF 7|2XQl X4 | MESte txtitYd2 LOotET| #2 dilez
O A= AMRHSO| CHE AMEO| ZhE It Y S | MEE 0{0F Bhrt
B ZNE ZHEA O[3{5t=X| =QIotet.
- NF_1: O{HL|H| exampleg EO|E2[1 YHSIA|2tD REIETE HS5HALCE (Pass)
- NF_2: OFHX|H LHE Table @f2 2O ERICE O|SHSHALCE (Pass)
- NF_3: C}¥%t Feedbacke FH|SHX| RYCE (non-pass)
- NF4 R4 s20A MME txt THYS 20{FACt O|SHZHCE. (Pass)
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